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Jun-2023 New Version ACD200 Certificate & Helpful Exam Dumps is Online ACD200 Free Certification Exam Material
with 78 Q&As  NO.11 Your organization is considering automating the running of expression rule test cases to provide unit tests

for your Appian applications.

Which three methods could be used to launch a test run when required? (Choose three.)

*  Via the DevOps section of the Administration Console.

*  A process model invoked via an API.

*  A process model exposed to users as an action.

*  A web hook from a content versioning system (CVS).

*  A SAIL interface embedded in a report.

NO.12 You need to find a list of expression rules that are causing performance issues, or have caused performance issues in the last

30 days.

What should you do?

*  Use the Monitoring tab to find rules with a low completion percentage.

*  Access the Rule Performance tab in the Administration Console.
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*  Inspect the application server log.

*  Observe the runtime of all test cases.

NO.13 You are creating an expression rule that will be reused throughout your environment.

What are two benefits of including meaningful test cases when creating a new expression rule? (Choose two.)

*  Speed up unit, regression, and exploratory testing.

*  Improve the appearance of the code.

*  Improve performance.

*  Increase code quality.

NO.14 The IT stakeholder wants to understand which processes have the highest footprint.

What are the two places to get information on process model memory usage? (Choose two.)

*  Administration Console

*  Process monitoring tab

*  Appian Health Check report

*  Application server log file

NO.15 You create an Integration that modifies the data.

In which three locations can it be called? (Choose three.)

*  Web API (GET)

*  Expression or Rule

*  Web API (POST, PUT, DELETE)

*  Process model

*  SAIL saveinto parameter

NO.16 You need to build a process model that transforms a large data set.

Which two things should you ensure to include in your process model? (Choose two.)

*  A subprocess is called using &#8220;Multiple Node Instances (MNI)&#8221; to perform the transformation on each item in the

data set.

*  An XOR gateway is added before the transformation node, to check for empty/null values.

*  A loop is created within the process model that increments on each iteration, updating that particular row in the data set.

*  The transformation is applied with an expression rule that takes the data set as an input, and loops through the dataset using a

looping function, such as foreach.

NO.17 You are about to deploy a package to another environment.

Which two statements are true? (Choose two.)

*  It is not possible to undo changes from an import to all types of objects.

*  It is possible to undo changes from an import to all types of objects.

*  It is possible to import the same package multiple times.

*  It is not possible to import the same package multiple times.

NO.18 You are troubleshooting a process model instance with an error in a node.

Which two options will allow you to obtain more information about the error? (Choose two.)

*  Open the process model from the process instance.

Jun-2023 New Version ACD200 Certificate &amp; Helpful Exam Dumps is Online [Q11-Q28] |  Page 2/5  |

https://blog.examslabs.com/?p=937
https://blog.examslabs.com/?p=937


This page was exported from - Exams Labs Braindumps 
Export date: Mon Mar 31 16:33:08 2025 / +0000  GMT

*  View the Process Details dialog.

*  View the process model properties.

*  View the properties dialog of the affected node.

NO.19 You have configured a process model to send an email to one or more recipients using the out-of-the-box Send E-Mail node.

Executing the process model results in the Send E-Mail node encountered this error: &#8220;Error:Email could not be sent&#8221;

Where do you go first to find more details on why the node encountered an error? (Choose the best answer.)

*  Raise a support case within My Appian so a cloud engineer can investigate.

*  Review the system.csv log.

*  Run and review the Health Check report

*  Investigate the application server stdout log

NO.20 You are analyzing a poorly-performing process model.

You find that the process model in question has a lot of nodes and is mainly used to do background updates.

Which two things can be done to increase its performance? (Choose two.)

*  Define the correct alerts for the process model.

*  Remove all activity chaining.

*  Use swim lanes in the process model.

*  Refactor some nodes into subprocesses when possible.

NO.21 Your organization is considering the adoption of Behavior-Driven Development (BDD) and automated testing as part of

application development.

Which three testing tools have packages preconfigured to work with Appian applications and are available via the AppMarket?

(Choose three.)

*  Cucumber

*  Jenkins

*  Selenium API

*  Git

*  FitNesse

NO.22 You are required to display information for pending tasks for each individual in an application. There will be tasks for a

single specific application.

Which context type should you choose for the Task Report Type?

*  Tasks by process model

*  Tasks attributed to user

*  Tasks by process

*  Tasks assigned to a group

NO.23 During a sprint retrospective meeting, you need to get the team thinking about the outcomes of the last sprint.

Which two basic questions should you ask? (Choose two.)

*  What didn&#8217;t go well and can be improved?

*  What are the blockers?

*  Who did well in this sprint?

*  What went well?
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NO.24 You need to build a QC review process for a factory that allows a technician to review each production line on a regular

basis.

A QC technician has 30 minutes to complete their review, after which time the review will expire and be marked as a

&#8220;missed review.&#8221; If this, occurs, a supervisor should be notified via email and the review data should not be saved.

Additional requirements are as follows:

The user should be able to save a draft of their review before submission, and come back to work on it later.

Once submitted, the review data should be saved to the database.

Which option needs to be implemented to meet the requirements?

*  An exception timer that skips the QC review task after 30 minutes, which flows to a Send Email node configured to notify a

supervisor

*  The task configured as a quick task

*  A send message event which sends an email after 30 minutes to the supervisor

*  An escalation that sends an email after 30 minutes to the supervisor

NO.25 A lead designer receives this requirement:

Every time a record is modified, the data changed must be stored for audit.

Which design is the most efficient and has the least impact on the Appian application? (Choose the best answer.)

*  Create a custom plugin that can write an audit trail to a log file.

*  Create a trigger on the database table to capture the audit trail to a table.

*  Create an Appian process to capture the change history and write the audit trail to the database.

*  Create a web API call to an audit history system and write the audit trail to file.

NO.26 You are designing a repeating step in a process.

What is the default limit for maximum number of node executions?

*  50

*  2000

*  1000

*  500

NO.27 Which XSD element is NOT supported within an Appian CDT? (Choose the best answer.)

*  <xsd:complexType>

*  <xsd:key>

*  <xsd:annotation>

*  <xsd:simpleContent>

NO.28 When looking at the process model metrics for your application, you see that one of your process models has a low

completion rate of 10%.

What are two potential causes of this? (Choose two.)

*  The process instances are long-lived compared to the configured days until archival or deletion.

*  A large number of instances are encountering process errors, and they are not being addressed by the production support team.

*  A large value is configured for days until archival or deletion compared to other process models in your application.
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*  A large number of smart service nodes are configured in the process model.
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